2/

TH2EE WLt

(XA ZLVE

i 2HB BUER

202048 A9H(A) Fi& I ™
s e e om0 e | sl oo | R o os [0|5]5 me | mx fweel e | EEE w4 2|25 mE | mw e o] mEE w4 [[2E] mz | mw [wes| o
IREE Ll T " IEEE a1 " IEEE Ll R " IEEE L 3
F1HEE ﬁ - % i 2 14854557 FAFE*E - & A W L 16300 EBTHLE 4% ﬁé -FPE % Gk I 2] 1885205 FH108EE % ik b 2] 2085105
2 N D 1 200m(7)> Fﬁ7}< 1.3%) Cl 5 200m(= /K43 1.3%) ’fﬁ \%ﬁ 2 200m(= 7}< 1.2%) 7D 200m(/)NFl 7J< 1.4%)
2.5 522 HOE 2% 525 0T 2.5 528 BE2EE 2% A—2 HoE 2.4 531 BE4E 4% Z—7URE B
H4 O 150,000 @ 45,000 @ 22,000 @ 13,000 & 9,000 B4 @O 150,000 @ 45,000/ @ 22,000/ @ 13,000 & 9,000/ ¥4 D 200,000f7 @ 60,000/1 @ 30,000 @ 18,0001 ® 12,000/ B4 @O 340,000 @ 102,000/ @ 51,000/ @ 30,000/ & 20,000
116|6|XX /T —— fe[ 2] 980] 470] Hguh  —Ht [ZH EE KB 1.48.5 1{5]|5[FH% /<X f 4] 958] 590] KAH EEH [H)I B2 % | 2.00.8 1[8]9[mr s a U7 —  [4[2] 865] 510] ¥ iE— s % I | 1.45.7 117]7[3<= 757 sl4]1120] 680] B Br Bk Bk &mE | 1.48.2
2|3[3[F ¥ T L)LY w2 883 470 EAX = Mg —= gk | 1.49.1 2|66 Vo #] 4]1007] 610 fEA EREREE ERE | 2.01.3 2144l AT 4 — th[ 2] 884 510]  BrER  mthL [Tk H gk | 1.47.0 202121 X0/ R 7 -7 sl 4]1058] 710]  BefER mRE [ —= gk | 1.48.8
3lala|RTavehl gl 2| 839] 470 #aEH  aEBE] DR S | ks | 1.49.3 |78 AT A~ZAH— fE1 4| 949] 610 B B[R S5= | soRE | 2.03.5 77| =1 —LF 2] 889 510 W FEK [INER ”’Eﬂ( i | 1.50.7 s\ [T A T T el afri29] 710l W G- [HiL E &mE | 1.53.1
4111 =A~—FL vk fe] 2] 860] 470[  BIER  EE AR MEXK gk | 1.57.4 433 =T HAVx ] 4]1047] 610] Zgwh Rt [BA A= A | 2.08.8 4[1[1|S/FHR~L sl o] 928] 490] ¥R LK R RAT yiAE | 1.50.8 4lel6|la~H . ——=X ] 411059] 680] #AK  EAT | BREE &mE | 1.54.3
5/8[8[a LTV (/L — s 2] 843[ 490 il ERE A Mz | A% [ 2.05.2 5] 810V H % — w4 976] 5901 JREE R [ KA FeaE | Amr | 2.11.3 5|2\ 2| /x% T ay fE12] 926] 510 s M (W KPkeEsE | Mm@ | 1.51.3 5189 =A AL T f[4]1072] 660]  FHh R [N MEK | Fm#E [ 2.02.1
6|8[9[ =AU T fel 2] 838 4701 A E  FE [ MEK | e | 2.10.0 612|127 AKX ALY $E[4]1081] 610] jBkEEF B [EM & Ei= | 2.15.8 6l8lwo|xXX /i av s 2] 909] 510 E#  EK KT - | mis#k | 1.52.8 6|5[5[F v /A A~F— t[4]1032] 690 W CREK [BH A | 2.09.3
7]2[2|x % /3L sl 2] 813] 470 il A |HA R E#E | 2.45.4 114l4[> NV 3—T a1 te[3] 961] 610] Ri%  sERK BRI AELER [ REsss [ 2.24.2 716[6|VTay /S te[ 2]1003] 510] A I 85K EEE | Risss [ 1.56.2 7188 Z AV T AHX— [ 4]1086] 690] FE = [ ER E | 2.09.6
8|55t H/LEED fel 2] 822] 470 EHE AR |[EE EK wid | 2.48.2 slil1[AF XL T t[3]1000] 610] W8 REK [ALR BEFE | wmulE [ 2.25.3 sl7[8]|~=VF 7 #] 2] 919] 510 a’%@y — [Ilno T47 | «m® [ 2.08.3 gl3[3][ /> EZH #l411015] 700 EE  B— & fa SEE | 2.10.4
1171V/7F V% H[2] 839] 490f X LK [KAE &\ R ol7]7[ A% — )L — 3] 948] 590 &HA B [\ Al E#e | 2.28.3 9[3[3|yTF =2 2] 896] 510 B Hr |FA & KTl | 2.09.5 ol4l 4|7 IR —<— [ 4]1082] 690 FEAR [l EE RN ~3% | 2.34.5
R4 Hik ® 82011 10]8[9[~Vau T AR fe] 3] 960] 590] PR LR |EH W | k& [2.33.3 o[5[5[ 7L H A ay s 2] 873[ 510 mEA 1T [EM R R | 2.42.3 | [ R4E Hi @  1,130H
5 ® 170H ©) 1204 @ 120 | [#04 Hs ® 610H 4 s © 760H 5 ©) 180H ) 1104 ©) 1204
FrdL i ®—® 1,390M s ® 180 ® 1204 140M 5 ©) 260 @ 5401 @) 590 FdL i @—® 2,840M
| SpLLE ! @—® 990H FE ®—B 2,820 FrsB g ®—® 1,290 s @—®  3,650HM R E @—® 2,320 FE D—-© 6,130
EINGSE ! ®—® 380H ORI 380H @—® 190 JSpuLE ! ®—-® 1,150 FHLHL ®—-® 2,310M JSpuLE ! @®—©® 5,370M FoE OO, 10,830 EINGSE ! ©-O 5501 OO 530 O-® 180
—HE @—@—-0 1,070/ —HHE ©®-0—-@ 11,4704 EIINCSY ] ®—® 440H ®—® 260H ®—® 330M EINGEE ] @®—©® 2,250M ®—-©®  2,610M OO, 3,440 —EHE O-—@—® 1,530/ —HHE O-00-0 22,870
i [7ERYIFVX S IV FRiCaie s T IELT, i 0-06-0 1,170 —HHE 5-0-0 7,470 i @O—@®—©Q 18,500 —HHE Q—@—® 112,010 SIS g 7e g o R 255 Bk
W |7/ ITFIRET, RN AR RSN, B B EmK g8 B [ hoR B 255 B BB Em K 3678 g OR R 255 E P 2,652[37,626 0[37,626
S FEHEEEH | RGE B | 25| B P 1,203] 9,312 0] 9,312 HLPS 2,909|27,666 0]27,666 B 2,739 9,206 5,972128,830 0]128,830
HPs 692| 7,093 0] 7,093 s 690 1,569 1,196] 6,293 0] 6,293 HPs 2,918 1,169 1,040(25,347 025,347 s 221| 8,384 0] 8,384
s 444 1,003 992| 3,967 0] 3,967 i 226] 3,899 0] 3,899 FEiE 139] 6,783 0] 6,783 i 1,4291(44,206 044,206
Frsg 181] 3,377 0] 3,377 B 909(13,966 0]13,966 L 376(26,970 0126,970 R B 551145,049 0]145,049
Fepig Y 7241 9,605 0] 9,605 SPU oA 431113,275 0113,275 S HL 183[26,448 0]126,448 B 1,643 1,710 0,983142,070 0142,070
R pHL L 261] 9,836 0] 9,836 INE) 558 1,069 172110,571 0]110,571 Nk 379 325 245133,959 0]133,959 A 3,816(80,752 0]180,752
IEE 406 404 1,056| 6,927 0] 6,927 = 1,366(22,133 0]122,133 — 204 52,070 0]152,070 —E 707]223,024 0] 223,024
— A 943]14,022 0[14,022 L 549(56,636 0[56,636 —HL 69]106,610 0] 106,610| [#7EHEZExK 509,941 0[509,941
—EL 235(37,187 0[37,187| |k 136,085 0] 136,085 st g 305,853 0 305,853
I e s 92,014 0192,014
2 E ﬁ ? % ik I 4 15062007 BEEHERE . ¥ GE B 40 1TREL0SY  EE8BEE = % & W5 2 1815555 BR1LIgERE . Je it I %] 20455
M'\’ j‘ %%#ET% 200m (&= 7k 1.3%) B4 1 200m(= /K%y 1.3%) %Eﬁ&m%%iﬁgﬁﬁl SEF‘ En_n 200m(/] Fﬁ7J< 1.3%) B3 2 200m(/J Fﬁ7k 1.4%)
2.%.523 BE2E% 2 C—2 HOE 2.5%.526 S 24529 BAE3®mLLE B2—3 HOE 254532 HOE
B4 @O 160,000/ @ 48,000/ ® 24,000/ @ 14,000/ & 9,000/ B4 @O 160,000/ @ 48,000/ ® 24,000/ @ 14,000/ & 9,000/ B4 @O 180,000/ @ 54,000/ @ 27,000/ @ 16,000 & 10,000/ B4 D 160,000 @ 48,000/ ® 24,000/ @ 14,000/ @ 9,000/
1[5]5[ 77 R7To5v7 2] 818] 490] &K  EN [FN Ee | skE [ 1.51.3 111 v~FZA=— ©[3[1059] 600] A = | KJF FioL JHF | 1.49.6 133V /AT fe] 6] 996] 620 L A B KBkEFE | mbm | 1.45.9 1NN ] 8l1029] 630] 7  FH— [kr I waLE | 1.47.1
2[2]2[=270 #E| 2] 889] 490 R SEX |@ES AELRR | mREssE | 1.56.7 AR EEDAY) fel 4] 990] 590 PR LK | EO FRf kg | 1.50.8 217 71[VZ7F /FR 5] 977] 640] AaEH EBH [KBE &\ K] 1.47.3 2[3|3|F A EBAH YT fe| 4] 981] 600[ ¥ FEK ﬁ}aa s visesE | 1.49.3
3|8l Ao e[ 2] 920] 490 REE R [/hiAl B5E wisL% | 1.56.8 22|~z 1> a7 3] 983] 610] KB B [fan HHE amsr | 1.54.6 3[2[2[ v AT —L H|5]1031] 620] ¥k O |EH KEAN | 1.49.2 3[s8lo[FAT AT A ftl6]1061] 610] R B [HT S b | 1.51.3
4166|777 9% sl 2] 899] 470 B WE =M FRF [ kE [ 1.57.0 4| 810 E AT T A —2 sl 4[1011] 5901  FL R [BkH E s | 1.57.1 ABREIDEYYFN 61007 640] A = |m 2R R | 1.51.5 45|55 AT 4—T #5980 630 ML A [AH E— | mks [1.54.2
5[3[3|7VAZ)LayT7A s 2] 874 490 BE® B [/hA BEE] Ei#pa | 2.10.1 513|3|[ Rk Af 4] 986] 590] foH EM BRI HE F | 2.01.8 501174k th[5]1032] 640] Fuh  —H (MR JbsElm | A% | 1.54.8 5|66 — AWV H— H 4] 978] 620 FER & [# rrror—a| smkws | 1.54.7
6l8lol77 A 7 p 2] 948] 490 EEE  EG [EaA BERE | sokw [ 2.17.7 644 T A s 3]1116] 610  Z5wh  —8f [kJE Fagk | s [ 2.02.1 6]6[6|A— X—=H 1KY ] 71055 640 H G — [E e meik [ 1.56.2 68|97 ava—/LR #| 4] 985 620 FAmE  EWT [FN & | #rEm | 1.56.9
7117174V T e — 2] 880] 490] B |y B R | 2.19.1 7189z aFa—/LR #[ 3] 897] 610 W aE—  [EH R mHE | 2.05.5 114 4| AEZIF I A7 5] 982] 640 i EA [ B— ME | 1.59.4 744 A—RX—XPF"—F #:[ 51064 620]% #k g M ER bR | 1.58.4
sl1l1 [ 77U 1> 2] 957] 490] W #k— [dbE BT wiglk | 2.23.0 8ls5[5| v~/ A0 pE[ 4] 955| 610]  #EE B [B) Iveumpg| meask | 2.05.9 8|5[5[ 4 —v Y  AX— pe[7]1093] 640 A  HEI |EEEF drfi [ 2.00.7 gl2|2|hVE—11— th[4[1084] 620 B B (KRS FE HAF | 2.00.1
11877 RE 7 —  [w]2] 889 470]w ¥4 JH ZFEHE | FN Ede 1| 1E | 4.26.8 ol718| 777 RAI/NE v 3]11026] 600f B8 E [T k1| AHKE | 2.08.2 ol8[8| YV /AP LEA tf6] 962] 620] EEEE  ER (MR KPkEE | MRk | 2.13.8 ol7l7|1a— VT A — [#]4]1050] 620 % HB— [+H E_— &mE | 2.00.7
Al a2~ AF SRy [#]2 0] 490] ¥§ K EEAN K B 10[7]7[=Y /YT $H 4] 932] 610 78RR |10 DAEA Jotffn | 2.08.6 N HiRE ® 380H 10[7[8| WAV t[11]1000] 630] FiE =K [k BE & ]2.04.3
SN EAS ® 470H R4 H 5 @ 570H s ® 150 @ 180 ® 130 | (L4 H s ® 660
B ® 220 &) 160 1704 W5 @) 220 ® 1504 ® 850H st ®—® 1,890M 5 @ 190 ® 260H 1504
FrdL @—6 1,520M FrdL O—® 770 JSpuLE ! @®—® 2,380M FoE @—O 3,710 FrdL O—B@ 2,260M
5 EA ®@—® 1,510M JESPUNEA O] 3,300 Jspli v ] O—-® 720 JHE R O—® 1,850 EINGSE ! @—O 470H OE©) 2601 @—0 650 Jspli v ] O—®  2,960M JHE R OE6) 5,170
EINEE ! ®©-® 450H ®— 440 ORI 440H EIINGEE ) O-® 380H O—® 2,130 ®©—-® 1,520 —HE @-0-0O 1,880 —HHE ®-0-0 14,6304 EINEY ) OR®) 700H O—w 990H ®—1 980H
=EE @-—-06-M® 2,310 “EHE ®-—0—O 10,360 —#EE O—@—06 7,970H =#EE O—0—0O0 27,620 I e g R R AR —EHE O—-—@—© 7,010H =EE O—0—@ 43,960
T [|AFITATF AR BL, ARIEERR DT HEZTVIE LT, G g 7e mop o E ] 255 B HIPE 6,264[29,934 0[29,934 G g 70 mp o E ] 255 B
il |8FETTEVNB S L, BEEXA LR DT80 I, HP 3,338(23,938 0]123,938 B 3,731 2,977 5,575(23,462 0123,462 HP 3,970(32,938 0]132,938
HilE  |8FETTEUVR BT —EL, SR )R ARSI, s 1,904 4,050 368]17,005 0]117,005 e 260] 6,576 0] 6,576 s 2,653 1,674 4,251(20,446 0120,446
S FE 5T B | R B | 55| B ] 620] 6,384 0] 6,384 R 1,010132,091 0132,091 T 338[10,193 0110,193
HPs 1,638] 9,660 0] 9,660 I 2,643(25,641 0]25,641 SEpuIaE] 666]32,969 0]132,969 B 1,082142,740 0142,740
s 563 994 914| 5,622 0] 5,622 PSPLOLEA 1,003(24,775 0124,775 IEHE 1,528 3,312 1,058[30,556 0]130,556 JE L 576139,757 0139,757
[BER ] 191] 3,886 0] 3,886 e 1,810 271 384124,743 0124,743 —# 2,269[58,842 0]158,842 I 1,319 902 910]36,204 0]136,204
Repig Y 509110,288 010,288 — i 454149,911 049,911 —jHE 0685(138,272 0] 138,272 — 810]78,400 0[78,400
o 249(10,958 0[10,958 — 261199,441 0[99,441 Ak 352,702 0]352,702 —HLHL 3241196,457 0] 196,457
I 409 410 414| 7,381 0] 7,381| [#7EeEEK 271,838 0]271,838 RIS 457,135 0] 457,135
— 505116,142 016,142
— 311[44,454 044,454
TRFEIG IR 108,391 0] 108,391
FIPE _ % & I 20 1505550y SEBIEE — 3 2 % B W ) 1THRESY SO E %6 A IV 2 19153057
C 1 8 200m (% /K5y 1.3%) ) *‘0)%%$5O£|5 E J@ﬁ‘ﬂ% 200m(E K45 1.2%) MI'. Mforever 200m(/h R K53 1.3%)
24524 HOE 245,527 BE2m 2% B—5 BE 24530 BA3RIULE Al-A2—2REG BE )
H4 @O 150,000 @ 45,000/ @ 22,000/ @ 13,000 & 9,000 E4 @D 180,000/ @ 54,000/ & 27,000 @ 16,000 & 10,000 4 @O 220,000 @ 66,000 @ 33,000 @ 19,000 &  13,000H A FoE FAZVLEEE RS
1]7]8[SAZ—F < ke[ 4] 985] 610] ¥y B [ G piisE | 1.58.6 I EE=a=0% s 2] 890] 500] gEA = &k B Kk | 1.52.5 11717 AHR T te[6[1130] 640] Pk L | B0 FFT amsr | 1.44.0 (HXR H H H’EEIQEJ 15 K5 FoE X MEFEBEHRABAE
2| 810>V )L AL —R p1 3] 932 610[ 78 FF— B0 AR | w9k | 2.03.4 2|22V =A~=V fe] 2] 842] 480 8 CREK /AR MEk [ 4w [ 1.53.0 2189|777 4—T fe]5[1036] 640 v8  Fk— [/ el [ wake | 1.49.5 11 8/8 [ = [ 16 ~ 1.3 278,085,800 11 99 2,022
344 R avAR R 311007 610] Al BB DJEAN AT WaE | 2.05.5 3lglo[ 7TV —aX f| 2] 856] 480 Ri¥ =K [HEF & aAF | 1.59.8 380 NI HAFRT 1 9]1090] 670] JREE M |[HF KE AHSE | 1.50.7 2 [ 89 [HI|/MA[ 13 ~ 14 304,192,600 11 106 2,382
a[ 11V REF—T s3] 891 610 AAA  Fw |/vin B paLE | 2.19.7 4|55 ay wl 2] 817] 480 K& B |[EW 1k JHSE | 2.09.6 4718 AL UF V4 [#]5]1072] 670] %A  EN B HeEE] e [ 1.54.5 3 |8/10
5|/3|3[AAL ] 4] 943| 580[% M7l ZKHE |77 ) & Mg | 2.27.1 5|/8|9 [TV AIRD fel 2| 847] 480 K E & |m HHj% pisl% [ 2.17.5 5|55/ #|5[1033] 660 Bl B [EIL KRN [ 1.55.3 4 18/15| &
6]6]6[RThIARA F[4[1109] 610 R ==K (xR | Kirh | 2.29.6 6|7|7[Ah—T U~ 2] 907] 500] AAH EBA (85K R F - | 2.23.8 6|33 a~H— sl 5]1055] 670] W CfEA [/hAR MEJK 4 | 1.55.6 5 18/16 | H
718|9|ET/ th[3]1082] 610] MRl A I ER wigrE | 2.34.6 713[3| AT — B[ 2] 863] 500| {EOR LK (SR FERE Ak | 2.28.1 7116l6[A—/NTTH — [ 5[1079] 660] K sEK [/ha e w5l | 1.56.4 6 | 8/17
gl7l 7l =AYV 07 #] 3] 938] 590 FKf I = [/ MEK PR | 2.34.7 gl7[8V=y [ 2] 810] 500] &K FEAT [hm BsE] Ei= | 2.28.2 glal4|l7L /6T — LK #l5]1037] 660 B i [5H T &M% | 1.56.8 SEt 582,278,400 22 205 4404
9[22 =7 —x~ 3] 921 590 K& L g 12— | 4/0% | 2.36.0 9[4]4[>—77VU—F 2] 970[ 500  FEE g ¥ % | amsr [ 2.41.3 9] 2[2[ & TVauR A t16]1025] 660 AA  Fw [dbfs mkE | sokd | 1.59.4
10[5[5|Fv 7 XV 3] 884] 610] Ak FES |HEaE = e | 3.04.1 10166 [~V AT7V7 ¢— [4]2] 830] 480 =yt  #r |Mik & KEAN | 3.33.6 o[ 11| %A — el 5]1024] 660] g —HF [V EW e | 1.59.8
SN ES 840H] R4 H 5 @ 260 R4 EAS @ 1,060
Wk 210 1904 @ 210/ W5 © 110MH @) 150 150 B @ 310H ©) 1601 1504
Prid D—® 960H Prad O-©® 670H ST D—® 3001
5 HAE ®—w 1,160M JiSPUiN=A 2,490 JSpLiE ) OO 580 JiSpLiN-cA O—-® 1,050 JSPULE ! ®—©® 2,410M FoEL OO) 4,380
EINEE ! ®—1 690 @D—® 730M @ 380 EIINEE ) OO 190 O—® 310M ORI 530 EINEE ! D—-O© 620 (GR0) 670 ORI 3201
=EfE @W—@—1 1,620 —HHE @®—-0—0 9,450 =g O—O@—W 1,310/ —HHE O—-—0—-1 6,070 =EfE O—O9—W 2,800 —#HE @O—09—W 22,660H
B B | g8 70 mg OB E ] 255 B G %7 g [oE AR 50 B S 9t 0 B | R k| | B
HP 965(10,175 0]10,175 Hs 8,136]26,651 0]26,651 H 2,152128,690 0]128,690
s 872 967 824| 6,924 0] 6,924 s 4,744 2,185 2,146(15,286 0]115,286 s 1,273 3,522 3,950(19,956 0119,956
i 280] 3,606 0| 3,606 i 598| 5,351 0] 5,351 P 2,093] 8,625 0] 8,625
SSpig Y 811]12,568 0]112,568 i 3,082(24,052 0]124,052 JEEAE 985131,734 0131,734
H i 469(15,571 0]115,571 i 1,627122,959 0122,959 Fo i 569133,290 0]133,290
JEEE 341 324 683[ 9,866 0] 9,866 G 3,697 1,913 993]25,001 0[25,001 JEEE 1,181 1,090 2,561(30,921 0[30,921
— 1,031(23,039 0(23,039 — 2,443(44,153 0(44,153 — 1,623[62,814 062,814
—E L 467160,876 0/60,876 — 1,125194,250 0194,250 L 4651 145,400 0] 145,400
MoK 142,625 01142,625| [fro/Emik 257,703 0] 257,703 RITEEH 361,430 0] 361,430




